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2 (%) (_/ha)
( /7 )Ma ) (ha ) 3 .
A B cC _cB D E 5 6
85 70 15 0.2 55 32 9 1 3 1.2 15 1.3 1.2
77 61 18 0.3 77 12 8 <1 2 1.3 1.8 14 13
82 4 11 02 71 19 5 1 3 1.8 24 2.0 1.9
72 38 24 06 81 17 1 1 <1 19 5.2 2.2 1.9
68 66 18 0.3 74 17 8 <1 1 1.0 14 1.1 11
74 58 18 0.3 70 20 5 4 2 1.3 1.9 1.4 1.3
1) 10
2) 1 1 1
3)A/B. 4)A/(B-C). 5)A/(B-Cx (1-D/100)). 6) A/(B-Cx (1-(D+E)/100)).
2
() Hg
(ha) Sg D
S;=0.5hal x Hg
kg kg/ kglkg kg/kg kg/
(ha) SM X +Bx
S4=02 03nd x Hg N 6/23 4% o.cs OI.38 : C%zo
K,0 31 114 0.8 0.8 116
Se  Su) 1) 179N/ x 365 ,  110gN/ x 365 - - 1999)
- ¢ ™ 789K/ x 305 209K/ x 60
H = Z Fi He 2829K/  x 305 141K/ x 60 ( ,2004)
i=1 R 2

k) 3

v ) (kg/ ) (kg/kg) (kg/ )
N 105 04 42
n 235 K0 145 1.0 145
F (ha) 1) - -(1999) (2004)
R 1 (hal ) 2) 2004
3) x
3 1 ha/
1 1.3 1.3 2.6 1 0.9 0.9 1.3
2 0.9 09 1.3 2 0.6 0.8 0.6
3 0.6 0.8 0.6 3 0.6 0.8 0.5
4 0.6 0.8 0.5
No.15 No.15 No.15
0.7 0.9 1.0 1.0 0.7 0.8
0.7 0.8
0.7 0.9 09 09 0.6 0.8
1.0 1.0 0.6 0.8
50t/ha 30t/ha
1)
2)
3)

4)



